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B.Tech. EXAMINATION, Dec. 2013
[[IIrd Semester B-Scheme (Main Only)]
CSE,ECE,IT&AEI
DATA STRUCTURES
CSE-201-B

Time : 3 Hours Maximum Marks : 75

Before answering the Question Paper candidates should
ensure that they have been supplied the correct and
complete Question Paper. No complaints in this regard,
will be entertained after the examination.

Note :  Student should attempt five questions selecting
at least one question from each unit. All

questions carry equal marks.

UNIT-I
1. (a) Write an algorithm to evaluate a postfix

expression using Stacks. 6

(b) Consider following arithmetic expression P
written in postfix notation P:5,6,2,+,*,12,4,/,-
Evaluate the expression P using Stacks. 5
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Consider linear arrays A(5:50), B(=5: 10) and

C(18) 4

(i) Find the number of elements in each
array.

(ii) Suppose Base(A)=300 and w=4 words per
memory cell for A. Find the address of
A[ 15],A[35] and A[55].

Write an algorithm to delete an element from
Queue when queue is implemented using

linear array. 5

What is a Priority Queue? What are its

applications? 4

Consider following infix expression Q :
Q: (A+B)*D)" (E-F),

where ” is exponentiation symbol. Convert Q

to postfix notation using Stack. 6
UNIT-II
Write an algorithm to insert an element at the
beginning of Linked List. 7
2
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(b) Write an algorithm to delete an element with
given location LOC from doubly Linked List.
What are the advantages of using doubly
linked list over singly linked list? 8

(a) What are the merits and demerits of arrays and
linked list? 6
(b) Write an algorithm to insert an element
between two nodes A and B with given
location LOCA and LOCB in doubly Linked
List. 6

(c) What is header linked list? What is its

relevance? 3
UNIT-111
Write an algorithm to perform Inorder traversal of
Binary tree. A 15
~
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For a given binary tree simulate the algorithm to
perform inorder traversal showing the contents of
STACK.
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inserted in order into an binary search tree.

40,60,50,33,55,11 7%
(i) Show different stages of tree and final
tree.

(ii) Insert 75, 28 in final tree. What will be the
final tree obtained?

(iii) Delete element 50 from final tree. What
will be the final tree obtained?

Write Warshall's algorithm to find shortest
path on graph. 7%
UNIT-IV

Write an algorithm to perform binary search.

7%
Sort the given array using insertion sort
77,33,44,11,88,22,66,55. 7%
Write an algorithm to perform bubble sort. 7

Sort the given array using Heapsort
44,30,50,22,60,55,77,55 8
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